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1. (10%) Find the indicated limits if it exists:

2
) (5%) Jim 2 b) (5%) lim ==
2. (20 %) Find dy/dz if
a) (10%) y = (3z + 2)*(2x — 1)* b) (10%) v* + 2* — 22°y* =9
3. (20%) Evaluate
501 2
.a) (10%) /4 ——ds b) (10%) /0 retds

4. (10%) A farmer estimates that if 80 apple tree are planted per acre, the average yield will be 60
bushels of apples per tree. The average yield will decrease by 2 bushels per tree for each additional
tree planted on the same acreage. How many trees should he plant to maximize the total yield?
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5. (15%) Find the relative extreme values of f(z,y) = e* ¥,

6. (15%) Write the two iterated integrals to find

/ /R 12zydA,

where R is the plane region bounded by the graphs of ¥ = 2% and y = /z. Evaluate one iterated
integral.

7. (10%) A rectangular box is measured to be 30 inches long, 24 inches wide, and 10 inches high.
If the maximum errors in measuring the length, width, and height of the box are, respectively, 0.3,
0.2, and 0.1 inch, estimate the maximum error in calculating its volume.



